Pre-AP Pre-Cal
Derivative Quiz Review
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1. If f(z) = =¥, then which one of the following is
equal to f'(a)?
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4. If f(z) = vz + 2, then which one of the following
is equal to f'(x)?
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A function f is given by the table shown.

Estimate f'(5.5):

z |37[43]49]55 61
fl@) |18 [34]46 64 |84

a) 0.316 b) 3.167 c) 0.300
d) 6.400 e) 0.297

The table shows the position of an object moving
along a line at 10 second intervals,

Estimate the velocity, in units/scc, at ¢ = 35.

t(sec) [D]10]20( 30 [ 40
position | 4 |12 | 26 [ 44 | 68

a) 0417 b) 2.400 ¢) —2.400
d) 11.200 e) 3.842

At which of the five points shown on the graph

is Ei{ positive? Choose the best answer.

x
2) A and E b) D only
c) C only d) C, D, and E

e) E only

At which of the five points shown on the graph

is Ey ncgative? Choose the best answer.

a) A and B b) B only
c) C only d) C, D, and E
¢) D only
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Given the graph of f shown above, which of the
following is the graph of the derivative, f'7
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Which of the following tables best goes with the
graph of f shown?

a) |z | fi(z)
a 0
b 0
c 4
by |z | fi(x)
a 0
b Q
c —2
o) |z f{z)
a | does not exist
b 0
c 6.2
d) |z f'(z)
a | does not exist
b | does not exist
c -1

What is the average rate of change over 2 <t <47

t [aTs]a]s]s
f(t) | 1.8 ]34 (46 |64 |84

a) 2.8 b) 1.4 ¢) 2.8
d) —1.4 ¢) 0.714
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J) [ 18344664 |54

a) 3.8 b) 19 o —38 &x) or _P \(x)

d) -1.9 e) 0.526 Answer List
1L a 2. b 3 e
14. The position of an object is given by 4 b 5 ¢ 6. b
s =14 5t — 20. What is its average velocity for 5 ; ;
1<t<3 a era*co (, C % kb B. b 9. a
. ‘I‘C’{ 10. b 1. b 12. b
MBS 9 g9 g e 13 b 4 c 15 ¢
15. The ;om;tion of an object is given by , S \OP 16. d 17. ¢
§ =1 —4t + 7. What is its locit,
iat is its average velocity over g I ns*a“*av\CDQS Catalog List
a) 24 TAL . h“c 1. APCDAT 2. APC DA 17 3. APCCB 13
i N der\ﬂa 4 APCDA 3 5. APC CB 10 6. APCDC 2
by -4t A 45 7. APC DC 12 8. APCDD 3 9. APCDD 4
€) A-a4 Ak 10. APC DD 10 11. APC DD 16 12. APCDI1
d) 24pL 13. APC DI 2 14. APC DI 9 15. APC DI 11
16. APC DI 17 17. APC EC 1

€) not enough information - - ‘ne

16.  Given the position function s = £+ 5t — 1, what " Ic x ‘S \n * -
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17. The graph f(z) has horizontal tangents when
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